
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

DETERMINATES

Question Bank

1. If =3, Find the integral value of x.

Watch Video Solution

∣
∣
∣

x − 2 −3

3x 2x

∣
∣
∣

2. Without expanding,show that  =0,Where a ,b,c

are in A.P

Watch Video Solution

∣
∣
∣
∣

x + 1 x + 2 x + a

x + 2 x + 3 x + b

x + 3 x + 4 x + c

∣
∣

∣
∣

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7XsOSfbWAV3H
https://dl.doubtnut.com/l/_48wkDdI8me9f


3. Solve fox x: =

Watch Video Solution
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∣
∣

x 3

5 2x

∣
∣
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∣
∣
∣

x −4

5 3

∣
∣
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4. Evaluate  were  is an imaginary cube root of unity.

Watch Video Solution
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∣
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1 ω ω2

ω2 1 ω

ω2 ω 1

∣
∣

∣

∣
∣

ω

5. Using determainant find the area of the triangle formed by joining the

points(-3,-5),(5,2) and (-9,-3).

Watch Video Solution

6. If x+y+z=0 then show that  = 0.

Watch Video Solution
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∣
∣
∣
∣

1 1 1

x y z

x3 y3 z3

∣
∣

∣

∣
∣

https://dl.doubtnut.com/l/_48wkDdI8me9f
https://dl.doubtnut.com/l/_ktyodZjJrDi0
https://dl.doubtnut.com/l/_k5jp0tsetbiN
https://dl.doubtnut.com/l/_of8DorTfsPUL
https://dl.doubtnut.com/l/_j9mjYsgcebQq


7. Evaluate the following determinant

Watch Video Solution

∣
∣
∣
∣

x + λ x x

x x + λ x

x x x + λ

∣
∣

∣
∣

8. Without expanding prove that,  = 0

Watch Video Solution
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∣
∣
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1 ab +

1 bc +

1 ca +

∣
∣

∣

∣

∣
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1
a

1

b

1

b

1
c

1
c

1
a

9. Show that  = -3abc.

Watch Video Solution

∣
∣
∣
∣

a b c

a − b b − c c − a

b + c c + a a + b

∣
∣

∣
∣

a3 + b3 + c3

https://dl.doubtnut.com/l/_j9mjYsgcebQq
https://dl.doubtnut.com/l/_Bt2ywj5fBm7u
https://dl.doubtnut.com/l/_wee3Q0CNKubD
https://dl.doubtnut.com/l/_xlj8XbSPwtas


10. If a,b c(all positive)are the and  terms repectively of a

geometric progression, show that  = 0.

Watch Video Solution

pth, qth rth

∣
∣
∣
∣
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loga p 1

log b q 1

log c r 1

∣
∣

∣

∣
∣

11. If  and  show that 

.

Watch Video Solution

p ± a, q ± b, r ± c

∣
∣

∣

∣
∣

p b c

a q c

a b r

∣
∣

∣

∣
∣

= 0

+ + = 2
p

p − a

q

q − b

r

r − c

12. find the value of :-


Watch Video Solution

(101)
2

13. Given that x =-9 is a root of = 0 .Find the other roots.
∣
∣
∣
∣

x 3 7

2 x 2

7 6 x

∣
∣

∣
∣

https://dl.doubtnut.com/l/_qmIlZdWVBWkt
https://dl.doubtnut.com/l/_vFIbbG8H9z2M
https://dl.doubtnut.com/l/_tvx3k07Ii6m8
https://dl.doubtnut.com/l/_RDQa83gIr9ME


Watch Video Solution

14. Show that 

Watch Video Solution

∣
∣
∣
∣
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(a − x)
2

(a − y)
2

(a − z)
2

(b − x)
2

(b − y)
2

(b − z)
2

(c − x)
2

(c − y)
2

(c − z)
2

∣
∣

∣

∣
∣

= 2(a − b)(b − c)(c − a)(x − y)(y − z)(z

15. Find the ratio in which the line joining the pts (-3,4,8) and (5,-6,4) is

divided by the xy plane

Watch Video Solution

16. Show that:

Watch Video Solution

∣
∣
∣
∣
∣

(b + c)2
a2 bc

(c + a)2
b2 ca

(a + b)2
c2 ab

∣
∣

∣

∣
∣

= (a2 + b2 + c2)(a + b + c)(b − c)(c − a)(a − b)

https://dl.doubtnut.com/l/_RDQa83gIr9ME
https://dl.doubtnut.com/l/_yz6h4NMZM95o
https://dl.doubtnut.com/l/_zQpiPOH15jfB
https://dl.doubtnut.com/l/_ZZoss0fjOk1Q


17. If A,B,C be the angles of a triangle, then prove that ,

=0

Watch Video Solution

∣
∣
∣
∣

−1 cosC cosB

cosC −1 cosA

cosB cosA −1

∣
∣

∣
∣

18. = ?

Watch Video Solution

∫ dx
sinx

1 + cos x

19. If x,y,z are all distinct and if =0,show that xyz+1=0

Watch Video Solution

∣
∣
∣
∣
∣

x x2 1 + x3

y y2 1 + y3

z z2 1 + z3

∣
∣

∣

∣
∣

20. Prove that, =1+ .

Watch Video Solution

∣
∣
∣
∣
∣

a2 + 1 ab ac

ab b2 + 1 bc

ca cb c2 + 1

∣
∣

∣

∣
∣

a2 + b2 + c2

https://dl.doubtnut.com/l/_VRt5A4W5bnIk
https://dl.doubtnut.com/l/_ugEviQrC7dMA
https://dl.doubtnut.com/l/_3BLoDrC6qq4h
https://dl.doubtnut.com/l/_KIYHWs1QL2in


21. Prove that, =4 .

Watch Video Solution

∣
∣
∣
∣
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−a2 ab ac

ba −b2 bc

ca cb −c2

∣
∣

∣

∣
∣

a2b2c2

https://dl.doubtnut.com/l/_KIYHWs1QL2in
https://dl.doubtnut.com/l/_0ZixNCBlqvdo

